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Underline the coordinating conjunction in the first sentence (S1) and the second 
sentence (S2). Then explain how the sentences’ meanings are different.

 1. S1: Amari’s shelf has enough room for his books and toys. 
  S2: Amari’s shelf has enough room for his books or toys.

  ______________________________________________________________________________

  ______________________________________________________________________________

  ______________________________________________________________________________

 2. S1: Everly hasn’t watched that movie, nor does she want to. 
  S2: Everly hasn’t watched that movie, but she does want to.

  ______________________________________________________________________________

  ______________________________________________________________________________

  ______________________________________________________________________________

 3. S1: Roger is playing games in the living room, and Aila is in her room. 
  S2: Roger is playing games in the living room, so Aila is in her room.

  ______________________________________________________________________________

  ______________________________________________________________________________

  ______________________________________________________________________________

 4. S1: Lia is a perfect fit for the role, yet she has never acted before. 
  S2: Lia is a perfect fit for the role, for she has never acted before.

  ______________________________________________________________________________

  ______________________________________________________________________________

  ______________________________________________________________________________

Bonus: Which conjunction changes the normal subject/verb order? ______________

Meaning
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ANSWER KEY

S1 tells us that Amari’s shelf is big enough to fit both his books and toys. 

S2 tells us that his shelf is only big enough to fit one.

S1 doesn’t suggest any link between what Roger and Aila are doing. 

S2 tells us that what Roger is doing is the reason Aila is in her room.

S1 tells us that Everly doesn’t want to watch the movie. 

S2 tells us that she does.

S1 suggests it is bad or surprising that Lia has never acted before.  

S2 suggests that never acting before is the reason Lia is a perfect fit.
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